PHYS 1111 Homework 1

Chapter|1
Problems 37, 40} 41,148,149

[Tuesddy, August 09, 2011
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O\/ = s N:'-‘!/Z” Ax = )A Cuo O A‘i :‘2( S Ba
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/)()00 Ax T QSAN A‘o‘ 11"33”
15“‘5 - 4 [ 660 N\ _
NI £ ra (5m) =160°
S\ 1500 By =Bl Ceo s = B S 5, ‘
> (N ) Bx= (15 mis)Cuw (3¢ By = (S mls) Sen 3
Bx=-64.,1S m|s \55’ = 7.5 m/s
C\) Cx [C/\ Can®c C‘] = ‘ZL\ Sm®
238" Cx = (254 M) Cuo(35) % =84 U) S e
D C, =208 I Co =145 T U
) 35° ‘
\\ . \‘S"\W
N\c\7
2 LI red (SR0) = 1997
198° A\ D :‘6 CM S Da=115'5>4)~\@19
AR x = (69hm) Can (18Y) | Dy = (640 S (18)
(2° Dy =65, LR Dy=3l-3 m
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ST A= (4m, Sm)
0‘\ >A S - -1 /A \
/" \Al=|Ag + Ay o=t ()
/)6 5 Lt by
Al=)Cym)y>+ (Smy~ O A (Gm)
[Al=6.4m = 5].3°
5 A= (-3kn, - Chm
AI=TA Ay O =t (&
AI=TC3m s o)™ ©=taw™ (Z55m)
A [Al= 6.7 hm ©~63.4°
o 4 TR axl
R 190°+ £3.4°= 3434 ¢
C) A=(imls,~17Tms) |, ~——=n 1
7 VR = A A 6= L ()
Al=]Camis)*+ Glamjs)* I
. © = Lom? (T10)
1A= 19.2 h
Ne 6= 63°
\\ N o {/ moem (DX oo
N A e G = 398
A A= (=30, 1)
o Al=]Az+ Ay 6 = tan* (3
6 ( M=)Cay+ Q) | ©=dam” ("‘.,m‘)
\A[ =114 49 4 ©:=56.2°
N »ﬁmm MR axty
190°-56.2°=13R.7°
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Thursday, AUgUSt 18 201t _ _
4:32 PM . Ai‘- O Aa“ 3 25 \
SRR By="H15hm R, =C
\I?ohmtlri?\q . Cx =0 (a =-|.8
e oA s k= 1l 4
\‘J.V. e ?\\ C 1 - -\ .& +C/
P\‘ :A§g+ Dy + Cx
¥ = O +(-Ulshw) +
‘\X ¥ 'LI-TS\\M
< Rg= Ay + Dyt
0
R%::B.D‘Sk +0+ )
> = 9\6 -:‘75 hM
p\ = X+RU
Rl= [ aashwy + Oshy | & = tan T (F)
s -1 [\ ",ISRM\
lR = \l; OL e: j -L!'7:!!j
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